ALGEBRA REVISION LCHL Solutions (LSMS) May 15, 2015

Algebra Revision Worksheet

Leaving Cert. Higher Level
Project Maths

FACTORS & FRACTIONS

fackorise :

HE i | 3p"4bpg = 3p(p+29)
—_— T
Growp i | bak +12bc -Fac -96*
=3b(2a -3b) T 4c G3b%2a) =(Bb-Yc)(2a-3L)
HeF [DoTS i | 4y _(2?1 = 3(x*-4y*) = 3(x+ ?_7)(’('2;;)

Bonrogprie v | Axi-Fx-15 = (.’Lx -+ SXX —5)

3 2
Differenca of 2 cubes L - ('*'3K)(“-*Iax+‘1x)
a3—‘3=(zx—*f)@(’-+uﬂa +LY) €4+ IF

P/ n of 2 ook = 4(a*+3b%)

e :
axrl® > (a+b)(at-ab + Bt) Ha®+32b° - 4 (a+ 26)(a* ~2ab +4b*)




ALGEBRA REVISION LCHL Solutions (LSMS)

SIMPLf? .

FrcToriSE :
Hee
SVAATIC

AQIA0RATIC
SimPUFY

mohee:  2x“-Ix
= x(2x-2)
2 tep = x (x-3)

X3+ FX* +12x

S5

X*+2x -3

X (X® +3¥x +12)
(X +3 Xx=1)

X+ 4 )

X
CxCx-1)

x (x4+4)
(x=Y

RN

L
IX-3 X = 3% X
_ S - 30) -1 (2x-3)

-

x(2x-2)

Sx S =-2x +4
x (2%-3)

3
¥ (2x-3)

32

2X=T%

May 15, 2015



May 15, 2015

ALGEBRA REVISION LCHL Solutions (LSMS)

Simplify, A+b
# f? L+ 1
a b
weite mon...'%‘m - atb
G Sin achoun b+t
] Uy ( alaq)
4'""‘0- b ﬁ-‘d\'ov‘
> lneselaof = (ﬂd‘&)( )
Mwhp(? big

'F(x)’ ﬁ’.'_' ) X #)

X*=)

) = X:4x+]|
} X=X -2

) = ax+b , find Ha
ad b

, XE-1)2

° a

I ) = 9 (x
Loy

I

£ o )
X™-I

2 &)
(xx?--m +|)
txt &OAPRAT:
’ k MMI'W DoTe A APRATIC
poi ik Hipley = (x3-1)  (x=x-2)
(X*-Y) (XE+X+1)
Pers QUAOAATIC
Faumorise eacw sarT
oo ssumr-, = AxF1) | (x =2 )e+T)
(=W XAT)  (XEFT)
= X=2
b=-2




May 15, 2015

ALGEBRA REVISION LCHL Solutions (LSMS)

MANIPULATING FORMULAE

If cmb-ac | exprss @ h s of
e 0@2+3ﬂi4‘(¢4.
x (b+a) c(bta ) =br-ac
ch tac = b* -gc
tac , = cl dc tac = b*-cb
2ac = bt-cb
+ e o= brck
2c
If -L=74L+'VL I OXpresS Ut Tors
of the ottet Vawialles. If IS and
u=20  firot flo yelee of V7
xtep @ fuv 'FW(T'F) = cxv(;)heﬁ,(}v)
uv = fv + fa
—f\/ nv - f‘v - .Fu.
HcF V(‘A"\'-‘) = fu
* (n-1) v= fu
-
S8 W L5 w=20 U= E%‘/?)) = _3_;9 = e

tnal eVallvape




ALGEBRA REVISION LCHL Solutions (LSMS)

Sz lostt.. Sioles
X Gn.

+ Y4qr?

Cww. (odt butl. Sicles

T= 1’4;1%‘ Oxpress r in teams of
M

e ottet vorisble.

amM
T?am = 4m2r?
T2Gm =

POLYNOMIAL IDENTITIES

WLH'{‘

¢7u4e Coefficiinks

O0"®

X2 -bx+€ = (x+k)*  hae £ onof £

e ConStodks . Fircd b otk of £ ano(t.

Xt-bx+€E = XT+dkx #47T
-6 =2k E= kK* &
2=k O

E=E3)™ = 1

k’—s / 6’1

May 15, 2015



ALGEBRA REVISION LCHL Solutions (LSMS)

ay* + by (y-4) + c( Y4134 -20
‘ﬁvoz 4 ? q[foﬁl.f ﬁ' 4,6 Lc.
&x,ow LS and
|,.paf7_ LHs = ay"-l—b;‘-%; *ey -4
= (atb) 4 + (4] y - 4c
equots. Coefficionts = A= et =122 | —Y4c=-20
c=50®
2@ | S-4%b=)2 & -4=% 3 L=-23
@~ a-2=2| S a=2
4=38 |, b=-2 ,¢=§
SURDS
Express i it
Swp&&(—&ﬂtdﬁa« 77 = &AW =z
ii)iua. = Mxz - 45 - an
2- 2
..) i j_ L ‘3_
(TN
w) | Jigo + Jao -Jizg
= 3eGs) + J46s) - §28¢5)
= &5y +aJgy —&§
= 355

May 15, 2015



ALGEBRA REVISION LCHL Solutions (LSMS)

2320 = 2.k ()
=2 ()5
= 4 J§

Writ. as

St v\74-l- ‘Fﬂr—h—w

s

muh'p oove. ook
below LY #e
Cc\n'hrﬂ'f— + (X3

hinetor

= - '-f (.s_s-“':)

(Jg-2) (£ +3)

L =Y
5-9

= —4%§c-I2
-4

= Jg +3

Sxpress L. - 1 i He ks
r 355 | 23 M
= L -
32§% 43¢
= 4J3 -3 5 =5
(355 X(4S3 ) i2(s) 6o
ix,omss -4 e ﬁw 5 +a
3€ -3

DoTs

May 15, 2015



ALGEBRA REVISION LCHL Solutions (LSMS)

th'P toove. gl
below LY He

Aoine hainabor

QUADRATIC EQUATIONS & FUNCTIONS

FAcToaISE

(2x + $Xx — 2 )=0
\\_//

=)

Express |

—

-+

—

w

[ =283 +%

O

—

-2

= -L183

=X

Ix +4=o

= L'-zJ‘g

Solve. 3x2-6x -l =0

B i te P alR-b
=

(-6)0-8
+53).(\—=§3)  pers

May 15, 2015



ALGEBRA REVISION LCHL Solutions (LSMS)

May 15, 2015

Selve. X -Ix +lUzo  bok gy ansoer in
Surd  fopm
use ‘Eﬂlwd-a
X = —(3)* [(3Y=a ()
X==b*b*-Yac 2@
Lo
7l = 41,[43—32
ks v
b=-F
c” Y - 22 [13
7
X, = =i
4
X~._=' '++JT'-'}
"f
forr  a quadlsatic. eguation Litt. foofs
ﬁ And 2
etlar  uwse X% - (Simof eonds) +(prootuct of foute)= o
S Xt- (i +3) x + (£)B) =0
X* —2-Sx + [.§ =0
ok 2xY =FX ¥+ %=0
ov Reoks @ XxX= % X=3
fad-w-s ?::( !
e poof fockors ! Cx"' £) , _(X—'l)
=5 (x-5)(x3) =0
X'=3x-5% + [-S~o
Xt =3x +1i5g=0
on 2%t - Fx + 3 =0




ALGEBRA REVISION LCHL Solutions (LSMS)

IF ho resd reof$
= A=b"bac <o
a=2

b=
c=7

\

v ilhinty b o
WD DS

exgoa-o
SUnplify

=I8x , = (S

May 15, 2015
l,én'f? Ix* =x+3=0 hal o
Reall’  Koots
A= D) -4()E)
- -2y
= -23 Zo
=2  haS o feal  Muuts, 86D

Solve L. + 4 = ¢
X+ 2x! 3

2 IlgiNax )6+ 4 (c1)@k 1 )G D= SO Xox 1)ED
< 25 1 Z

bx-2 + lax+2z = S(ax* xt2x 1)
fix +9 = 5(2x*+ x1)

I§x #9 = [OX™ + Sx= §

(0x*=13x =4 =o

(fox 43 fx = 2 )=¢

X= "3’ rX=2

{o

10



ALGEBRA REVISION LCHL Solutions (LSMS)

May 15, 2015
MODULUS EQUATIONS
Solve.  [3x-2[=4
nare
i (320" (o)
Selue guedratic Ixt—l2x +4 = /b
Ix* - 12x —/2 =0
Ixt -4x%x <4 =0
(Sx 42 ((x -2 )=06
X= -2 ;X =2
3
MeMrod 2 0 ConStder IF 3x-2|=4
loot or:h'ous
eitler Ix-2=4 on Ax-2 ==Y
X =6 X =—2
Y = 2 X= =2/
Solve  L[x+i] =[x+3]=0
i
b Dn‘oﬁk- 2 [ x+1 I = [x+2l
<¢;\'0t'—$ + T
$gare (2 Jxrl)™ = (xe31)
SO(UC 7'1&0((44.1'6 4 (XZ +?’X +I) = XZ +6x+7

HXE# @x 44 =X Hbx 49
8x*t +2x =S =o
(3x +SXx — 1) =d

IXx+§=o X—1 =o
X=-£ k=1
3

Check: .Z"'gil-)' L
ety | 280

X= | 2I|+|,-—Z’H-'!I

11



ALGEBRA REVISION LCHL Solutions (LSMS)

SURD EQUATION

+I

S?ual’&

oMees

May 15, 2015
Solve X={2x+3 -~
X+l = J3>c+'-)—
(X+1)* = 3x+3%
X4 2x+1 = 3+ F
Xt -x —L=o
(X —2)(x +2)=6
X=3 x=-2
AL BN - ={lE-1=4~1 =3/

7
2 = 2@ -1 = §1 -1 =0 X

Sl Tioal 2 X=3

COMPLETE SQUARE (VERTEX FORM) OF A QUADRATIC EQUATION

G s

Y R S A
femce  Solve  for X
X -bx+7-9-127=
(x-3 )" —21=»
Hewce  Solve
(x=3DT =2
x-3 = =501

X = 2*57T.

12



ALGEBRA REVISION LCHL Solutions (LSMS)

X -
x| x*
[l
N A

Sxpress =Xt +lix ¥I1S=0  w 4
. E (x=p)* =0 @l loce
ve.

- [Y" =~y -—IS]=°
2
y
-[ x-p) - ] =o
2 G
181 - [x-.’L)" o
U 2
Herce 1%

CUBIC EQUATIONS & FUNCTIONS

IF =gx—z) is_a Fache

F(z)-o
I ’gxuzc 1(;:; [—‘:gm

Lolue u’uaﬁbhs
®-®
Qb WTo @

X) = 37+ g = (Fx+

e W and m are Constant(
Given H#Hot X-2 awol X+2 are .{'nd-ls
of  f(x) . Find Ho Vot of m el a.

30BY +m(3)-30G)+n =0
Bl +9n — Sl +1n =0
Adm+in = -3 ©

22 + () - (-2)+n=o
~24 + Y4 +3% +n=o0
Y +1n = —lo @

Sh= -2.0 S ns -4

Y4 (-4) 40 = - 1o

—tb 41 = —lo 2 n=6

May 15, 2015

13



ALGEBRA REVISION LCHL Solutions (LSMS)

F""L INc.au‘ oot

ke, felokedd
C"‘Dr one/
0“\11'0&

SoluE  Ruaoranc
FALTOR =D

==L+ /L  lac

KA

S OLWTLOAS:

Lek

Gﬁw&&- C«.{f'fq'r_hes

i) Show PL=v
i) Tooks iw Herws

of pasd g

RooTs :

Solve  4x 3 +10x* -Fx -3 =o

F@ry= 4Gl +1o6) -2()

= —lo§ +9 +21-3 =0

D X=-3 a5 a oot & (X43)is
a .Fo.d-or
Xt —2x = |
X+3 ) 4xI +lox* - Fx -3
£4x2 Fl12.x°
-2 X* _?-x
oy Cg
- X=%
txtz

‘-H("—.Zx—l =0

X =214 )1 = .ur

2(«)
= &2AY = £S5
(%) G
X= r3 ,ix= +85 JX= _I;\\_E'
< G
X-€ IS a facke of X'-pc*-9x +r

l) Stlvw th ot /)ir.'r

i) Ex/m&s He roofs

x‘-px -9X +7'=0
feuns of p

3 px‘— gx+1r = (x’- £ )(x +K)
= X34 kx?—tx £k
Pk "1"6 r=—tk
p= -k ® gt @
Py = Cr)(e) = ~tk=r
factons are i (X *-&) owok (x+k)

RED

Q X"'-& X--—k
x=tJ€
t‘i —k-P
> x=1{q > X=p

May 15, 2015

14



ALGEBRA REVISION LCHL Solutions (LSMS)

Inequalities

|

(',Lm.\y. 3 - s

anA l'ucT.-M't-a

1) | Solve Set 4

i) Solve Set B

Selve -8 22 , xeN
arel Shov e Solubon Set o
QA NWumber Lunt.

Set A ¢

NN 4

X 2

Set B : 4-2x <o , XER
-2X < 6
2% > -6
X >-3

Find ANB aol Skow o~ a o fire .

t ~ — - L

May 15, 2015

—_—
-4 -2 -2 -l ] 2 3

And -2 € X< 2z

15



ALGEBRA REVISION LCHL Solutions (LSMS)

Consider i('
QuAorATic =0

owrSiols or
fnsiote 7
Zero leSk

SeLuTIon :

Counsider |'f
RUADAATIC =D

NS e [ owTsi DE
vaALweS !

se LW Ti oA

Solve I5 +2x 2 x? /XER

Xt-2x -5 <o

If X* -2x -5 =0
(X +73 )X — S)=p
X=-3 ,x=5

() =2 () -is & o
=) Pefe | yoha arks
2ere P insdle -3EXETS

?
nH

Solve 12 < x*+4x , X € R

6 ¢ X*+4x =12

X 4Yx—-12 >

lF X*+ 4x - 12=0
Cx -'LLX-PL )==

X= 2, x= -t

()" + 4 () =1L s _met >
= o vabhf s Werk

D 15 befwean 2 o ~&
= OukSide Vokwes IeREK

- > x =2

—H—H—
-6 2

May 15, 2015

16



ALGEBRA REVISION LCHL Solutions (LSMS)

Selve  2x 41 = 2 /X ER, X#)
X-

wikbiphy by )" (3x+1 )00 Y 2 2(x- )

A
X +4x, -2
CouSialer ;g 2o

InSiole /6 uhsine

%&MT( o ¥

FacTorse

4o SimyLity
ii
Setve (NBRWALITY
naetnfl) by (x-2)*
T2

| nadletic =0
ouwtswe/INspe !

X~

3 -3x+x -1 2 2 [xT-2x 4|

ex*=2x — | 2 2AX*-Yx+2

X7'+2X"3 2 o
IF X'+ 2x -3 -o

(X +3)x -1 )=03

X==3  X=
(®)*+ 2(+)-3

IS wet 2o
= ©o

cloasit  Werk
2 is  betjeos

-2 aer |
=) owand Valusr Wa<k
-2 > x > |
—H H
_-3 |

Foxd)= x*-3x +12
i) | Shots If ((x-H)-h: Hhesn

foo = x-y
fCx+1) X-2

f& = XT-Fx+12
FO) | (x+)F-F(xn)H2

= X-3xen = (X4 XD
+6 C X— )
Xt —Sx -1 Xx-2

find e Raugs. of plues of X ﬁz
g‘) >3 P X4 =3
(x#) X2

(x—4)( k=)* > 3 Cx=2)"

= X3x +12
X22x+1 =3Ix-FH12

KED

X* 20 4k 4+F >3 (X*oyx+4)
—bx +€ > 2XE- 12X+ 12

© 2 2xt —6X +Y4%
X*-3x+2 < e

IE X¥-3Ix+2 e (x=2Xx-})=o

©)*-2(s)+1 isast €o Sinta O

| ol 2 S nSide Works SR =

-e

X=2, X=|

Outsidle
>

1

is

X<
; En

May 15, 2015

17



ALGEBRA REVISION LCHL Solutions (LSMS)

Sﬂu!c.
Sl gt byl

\F Qorokc = o

Solve.

25 - < dox +4x?
Ux® — Jox +1(
Ix*—=lo x +¢ Lo

X*-Sx +4 <o

|$-2xlé?

<9
<o

£ X*-Sx +4 =0
(X = XX —4)=0o

Xzl , X=4
Oawe/wsive? | If x=0 D ()*-S(e) 44 is nk €0
= o obesik Lork ; © fs owtlicle
D Inside otk
| =X < 4
p
) A
Mekbod 22 1oeide as 16 -2x[ €3 = -3<g-2¢<2
d"b‘l\l— Ih!ﬂlmllf? and =5 =F =5
822 -2x52 3 4= ox=—
2z 2 2
Chave §i D 42x21 B | sx<y
(1. -+ z:;) (Geotdar)
Sove  |ux+2| >1
LeSiest o rite es
I(ou-Ul- m,ua.e; = —1 > 4x+3F 21
o | Solve - -3 ~#
-g Dlﬁ( >-6
] 4 K3

L > X 232

-2 2w 2-—|-§S

May 15, 2015

18



ALGEBRA REVISION LCHL Solutions (LSMS)

)
Quaée,
Consicer both ofhons

i)

MSide or OWASicle
["5 )33 7

~Gak

Frcroese
@ - (u:o?v\\‘sc S‘«ﬂfl'

X"—lx2,+7‘ 3 (x—7 )

foo = Ix+1]  ast  goo=¢
Solve  fx) = 9%
Ix+1(=¢
et x41=¢ on X4 ]=-Y
X=3 X= -5
Solve (0 S HX)
[x+1 | £y
X=0e Io+l’ =) £4
=) 0O ks
O IS lusidle
= Siole ok
-0 « ¥ <13
e — -
-5 2

frove for all a, b ER dot:
a* + bh* 24ab

3 a* -Yab +4b* 20
(a -2b) 2o

whiel, i tna

May 15, 2015

19



ALGEBRA REVISION LCHL Solutions (LSMS)

'lAw(«‘hVA’ ‘7. Led

& a?.é‘l.

FacToriSE b:J
a(bbrih’,

DoTS

> L+ L

Showw a + &
ar a b

b'&

i @tb 2o awd a, b #o

W‘&, )+ ;z%tég‘ ) > m%)m%)
43 +é:s 2ab* +a%
a(a*-b*) # b Eb™1a") =0
(a-6)a*-b*) 2o
(a-bLY)a-L)a+h) 2=
@-6)*(a+b) 2o
hcols IS troce

SIMULTANEOUS EQUATIONS

So(w.

s
lo ()
S®

livnin e f

S5u8 X=[0 inlp @

S{2x-5) + 3y = €05)
lox — 28 + 3 = 90
(ox +3y = IS @

3x + 20 = 5(34-5)
2% + %o = IS? -25
4S

X -~ 1Sy = - @

Cox +15Sy = 35
3x — IS g = —4<
3 % = $30

S X=lD

10 (=) + 3% = liS
oo +3y = 1S

3y =I5 » $=

May 15, 2015

20



ALGEBRA REVISION LCHL Solutions (LSMS)

Selve.

Slimiveke =5 @

S livaiwate J: 2 @
Sut x=1 ik (D

Sug X=1 , yo-2 i O

bk

Totol Invested 15 €56,000

Total inderest is €73, 300
x 5o

Amonnt invesled @ 6% ms
tvie. fmant @ lo%

SUB/(BD) inke ©
‘&

SKe ke (2

SAlt 2= 15 660 ko @

Suly 2|=15090 & X=20 ooo
e @

3x+y + 2 =0
X=-y +=2=2
2% -3y ~2=19

SISI=)

2x +M4 4+ 2 =0
ZX =3y =2 =9
5)(—1:, -‘=‘1 ®

X -9y + 2=2
2% -3y =% =9
W~ by = @
(o X "‘“J =g

3% +Quq ==l
Fx =7 = X= |

5(!)-‘25 r.ﬂ
§=ay=9
._9_3_, G = y=-2

3D+ (2) + 2=0
-2 +x=e
| +32 == = 2=

Cfm‘7 inbeste o €50, 000 I 4o -@-hdf

H'lmr 6% , 8 % ad D % inderest pa-

Ta fofold earmest i.-“fu-ons €3%00 ,

ice. as hwel was inveSfed ot 6% as was D%.
W haned  Pas  invesfed b cack fuwl?

X = Gonal inuesSted @ &%
g = Pumount inested @€ %
2 = Cmounf inwSted @.(0 %

X+U+2= So, eeo @

x (oo8) + ylee1)t 2(o1) =200
3X +4y + Sz =H85,000 (D

X =22 ™

22 +y+2 =Seseo D Iz dy= Sooeo(®

3(11)+‘|'7 +S2=Ig5o00 F 12 +U%y=I§5=00(5)
122 4%y "= 2°° 000
-2 —49 =-13§5 oo
= T = (S oeo

X= 3—(|$°cc ) = X = 3o oes

Zo voo +] #l/S5ooe = Soose > y= Sooo

May 15, 2015

21



ALGEBRA REVISION LCHL Solutions (LSMS)

Sobe. -
(D Yelacite. Linear

Sul inle quadratrc
@ 4 Solve 7

@ SUL bAr—k l‘hl‘D

Uirar

Sol whou Cohf(l.s s

Jx-l' =|3
X* 4 xy + Yy* =3

a= 3-2%

Xt 4+ x(8-2x) + (3-2x)* =3
XE #3x -2t 4T 12x hyxt =3

3x* —9x +L=0
X% = 3x +2=0

(x =1 )X —‘L)ao
X2 ,X=2

y= 2-20) =1

?,: 2 —Q.Cz)a—l
(i) aud  (2,41)

Indices, Index Equations

S\'hp!ifva, i)

i)

()

Dwme Ao
2 INVERT DENorupNTHL
Lol m—unfu,

25 = (31as )"

ZE"E Glev)*  @r
&) =G)

(%)

= L

32

May 15, 2015

22



ALGEBRA REVISION LCHL Solutions (LSMS)

Sdue,:

- fewrnke oifl,
3=9 Soune lose.
=27
3= gl
3¥=243

wedz.
a?,oowc
Solve.
g= write Vit
Souve. Lase
27(400_ /oma‘S
Solve

b+ 3% 42x

LT = 243

(3'})9‘4'7" L (gs)l-i-lx

1249% FIDX
3 =lq°

/2+9x% = S +I0X

3 =x

lxz = gl)"l'?

7 x
l)‘ - (,7_" )2 +9
ix"' _ :léx +27F

x* = &x +27
X*-bx — 2% =0
(x + 2 )x —9)=0

X=—3 x =7

May 15, 2015

23



ALGEBRA REVISION LCHL Solutions (LSMS)

Solve
rwite ol Sene
lpase
Z?W!to. 'OOWS
Selve eqabons

8

Sus ?’(; into (D

Selution -

S8 inbo 4= 2"

May 15, 2015
gx- 85"" gX'ﬁsq”

2% =(a*)*" TN (3P
lx L 23‘3+| gx-ﬁ _ 323
X = '374-3 X=1 = 2y
X-3y=2 O x-2y=1 @&
X=-2y =9

-—)(+3;"l; =-3

7, b

X =3()=3
Xi—iI8 =13
X = 2]

X= 2] 1 ‘a' = 6

‘22)(-1'! — s (Zx) +2=0

3 206%) -5 (2942-=0

2 2y -Sy+2=0

CZy - I)(; -2)=-

y_——é‘ 1}32
L =2 S X= -l
>
2 =27 S x=|

24



ALGEBRA REVISION LCHL Solutions (LSMS)

Solve -
M = (7))
= 1 (3*)
2~X 2
7= (T) =1
) @)
bt 2% =y

mpltiply b
%o/w_,a e»AZVZﬁ&;

Sub Solns ko ﬁf 3x

CARBER ZIES ST
2 9(?*)-82 +12 -0
3*
Tu-82+1 =0
Ty
7?."-—?7-y+?’°
C‘?} -1 )(7 — %)=0o
R
=L = L =3% 3 x=-2

z

-~
w

= X =2

Logs and logarithmic equations

Svsluate i)

o3 2

Lep, b3 =

wh

I
|

May 15, 2015

25



ALGEBRA REVISION LCHL Solutions (LSMS)

Solve.
lg - ey b =ty ¢
.(o}‘d =/
Solve
Zo? a + /Loy b=l74‘4
PsTS
PoTS

"02} (x+6) T hog , (x+2) =1

X+t
> _/o;l<x+z =1

X+6
=2

toy, (352 = oy 2

= Ej_‘ = l
X+

X+b = 2(x+2)
X+b = 2x +4
&= X

bn (x+1) + Lu(x-1) = ln2
44 (XH)(X—I) = fn 3

- CX-H Wx-1) =3

X*~1 =3 ok
2 \ 2
X —4 =0 X = -4
(x — XX +2)=0o
X=2 ,Xx=-2 Xx= %2

May 15, 2015

26



ALGEBRA REVISION LCHL Solutions (LSMS)

Solue

foya-Loyb=tog |
on el aton

#lo?ql =2
gt -

lo(?aL =/o;4 +hogt
[%a =
[oa,ﬂ" =i a

dog G ) = 4t Loy, 2

XL
k}z_ )(-:) 2
s = 2 (lp,2)
LKS = /o;;;[‘
s ’-'.&?z_‘l'
X =%
K=l
X= 4 (x-1)
X= 4x—¢
4= 3x 2 X=

Chiven P lo; o X
Oxpress b;c Ix + Aog, ex

[9;’)( -—lo;z(x—:) = 4 /Loy, 2

May 15, 2015

27



ALGEBRA REVISION LCHL Solutions (LSMS)

May 15, 2015

Aownoness U dB o s
tre fvﬂnuta L= (b Loy T dafy
I g M mm.sw/.
D2 whispee bao tre witense oo hat
) ﬂ.jmjowbn&r wn 468.09 of
note.:
/7R=Io;p4 L‘/l')/-} oo = Zo df
i) What 0o e Lusitiey of a Sumel thee
& S0 A8,
50 = o Io; I
I = % = /o gooo
The wlafron of Suow ,&upaﬂa(c s booo .
l.f Conservation iS FJ‘ fn ﬂd&
fle wlobron u.udecmuér % pee
ak . find o e nesfeod r.-rlou
Hong Tl lhe jigpulotion is hotvesl.
DEECIATION i
wlat. Lofvol IS helveod it
F" P ([ .-'|)e wel f"-f Bocoo
-\
F= %eos 3oes = Gees (1-11%Z)
r- beooso e
i 07 Zoee = (39%)
E= ‘_I Goo>

€7 53 e ()

= §-94% years ~ 6 yeers

28



ALGEBRA REVISION LCHL Solutions

Seloe

a=|
ftoajo?.a = /(o?.a"(D
laj« +A;7b=lo7¢£,

fo base
Zogs T

e |

e @

9 3
u=lo?,1 = %"Z

Sovnt (D2 ©

(LSMS)

/"]3" + ;(o;g Y4 =2 o

log s (33-3) -2 dog, % =1
A’?sx +'(°7;7‘= 2 Logy3
xy) = 3"

10}2#5 ; -::;:? =) Xy =1®
Loy (34-3) =2 Lag, X =1 7=1
0094 (29-8) = Loga X*= 1
log, (29-1) ~( Loz, X* | =

91 (2% 3) (—Lj) /

“ps Gy2) + Loysx” =i

o (29-3) = Lo, X =2
j‘;: (’77’3)l ""gz"‘ T RLeg3

@43
[a;s —%t"-_ = "zbi:"
293
L Aaogs (}{" )=‘2"°713
.?._2_;?'5- 3= &-r=x (D

(W) -2=Ix I 1§-2x =3I 9 X'4x -L=0
CX""-YX" 23 )=0 § X=2 ,X=-7

re_x.d' X=-2 becacle call o ‘-9 of '\ﬂa*\'nt. ne .
5-% = ‘7 SekTion ¢ X=2 , y=T2

EXPONENTIAL FUNCTION

i)
B()= 292¢°'°
bl=0" An-btk

@10&0' fovess

b Go Oxgogivent e ,G(/m;.; ey feaphdd

e ) ( z | 3
Qlk) |292e |2-&422-% [2-143
b Q)= A

Finol #e volue of A ool b

2920 =‘Ae'_""(") = AQ) =2 A=272e
—L(G)

24647 = 2920 €

:> —b-ﬁh CZ-LVZ

32642 = &° 2L

2920
2 -p=-0-1 S L= 6-1
Find e Voo of Constat k [or whick
QR (t+k)=% @) , € 2o

292 6—0-(((—+K) - -‘KJ-‘I'?-?,'ME)
(e )(e_’:" "); L (%)

e—o-lk .y -0k = A«‘-‘{_
K= 25 = (413
_—o,l

May 15, 2015

29



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29

